MERCURY (25 [4-5TROKE])
Serial Mbr Range: 07403000 THRU 18344238 [USA)

¥ Top Cowl

Ref |Clazs|Part

Description

Comment

| A

Footnote

1| 4027 5305627 5| TOP COWL 1 (MANUAL) (SILVER)
2 | 4027 5305627 7| TOP COwL 7 [ELECTRIC] [BLACK)

2| 4027 5305627 5| TOP COwL 1 [ELECTRIC] [SILVER]
3 N5G| WOT SOLD SEPARATE, Inductic|1

4 B54318| COWL INSERT 1 [MANUAL]

5 526291F 1| LATCH 1 [BLACK)

5 BZE291F 2| LATCH 7 [SILVER]

E 10 B23167 1| SCREW, M4 x145] 2

7 13 25995 LOCKMWASHER, (8] 2

B 1 523751 5| NUT, [M4] 2

5 B255EE 2| SEAL 1

10 §E53344 1| SOUND BLANKET KIT 7 SHH 18226999 & Below
10 557342 1| SOUND BLANKET KIT 1 SH# OP400999 & Below
10 BE7556AD2] SOUND BLAMKET KIT 1 SH# 18227000 & Up

1 NSS| NOT 500D SEPARATE, Souru|1 ELECTRIC

12 NSS| NOT 500D SEFARATE, Souru|1 MANUAL

13 16173 BRACKET ASSEMELY, Latch Fe|1

14 10 40067 31| SCREW. (MG = 15) 2

15 22426 1| BRACKET 1

1E 10 EZFE7 1| SCREW, (M4 x145] 3

17 13 25995 LOCKWASHER, (18] 3

15 1 823751 §| NUT, [M4] 3

19 47341411| ROPE AND HANDLE KIT, Manu, 1




